
  

5. ročník                                   Matematika                                  M_05_02 

Řešení:                                                                                         

Zlomky 

Zapiš a přečti  zlomky 

a)     

b)   

c)   např.   

d)   

e)   

Výpočet části z celku 

           z   32  = 4                                   ze 40 = 20 

             ze 2 000 = 1 600                    ze 150 = 30 

Slovní příklad 

                         ze 3 200 = 800       

          Dědeček pěstuje brambory na ploše 800 m čtverečných.           

 


